r Excel work that you compieted
el file upan which the answers are

MATH 154, Final Exam, Part |, Spring 2019 Name

Instructions: This portion of the exam is to be answered based on y
at home. Submit this document with your answers along with the £
based. Part Il of the exam will be completed in class.

To complete this portion of the exam, you will need the Excel file 13
Blackboard. You should perform any calculations in Excel, and then
questions directly in the Word document. You may need to copy an

inal_data.xlsx also posted in
rite your answers Lo the bolded
paste graphs here as well,

1. Using the data on Sheet 9, complete the following: (b-f: 4 po
a. Make a scatterplot of the midterm and final exam score
horizontal axis and final exams on the vertical axis. Add
Be sure to adjust the axes to eliminate as much unneces

linear trendline, find the regression equation and RZ.

ts each)

ata with micdterms on the
descrintiva title and axis labels.

ry whike space as possible, Add a

b. Report the regression equation.

Y = 0.999x t 09079
c. Report the correlation value and the coefficient of dete
Z‘ —~—
R= = 0.5%4aS Cl= 0.
d Is tﬁe correlation positive or negative?

poaaitins

e. Is the correlation strong, moderate or weak?

Showg &VW&@S

f. Does the relationship in the scatterplot appear to be lin

Lo

2. Using the data on Sheet 10, Calculate a complete set of descr
education. Report the following below.
a. Mean and standard deviation. (6 points)

rornonlinear?

tive statist'cs for vears of

mLan. S.00 st do J.R37




b. Five-numbér summary. (6 points)
Ve O Medidn, S
1o 4 34Q

¢. Range and mode. (4 points)

{Z

faugg 12 meda

3. Using the same data on Sheet 10, make a histogram of educ
appropriately with axis labels and a descriptive title. Descri
symmetric, left skewed, right skewed or some other shape

ion. Label your graph
the shape of the graph: is it
(5 points)

\ S(La,we/o(

4. Using the same data on Sheet 10, make a boxpliot, Does the oxplot support your description
of the skew or symmetry above? Explain why or why not. (§points)

Mo Skawo ¢ ok Shonsy, Hort s woffk skt buck
i Oy (ees nitieeabilo lﬂ«{g&v (Ao, wokay)

5. On Sheet 11, make a pivot table of the data of drinking and sfoking levels. Nots that the coding
is N=non, O=occasional, H=high, S=smoking, D=drinking. Copll the table below. (6 points)

| BD | ND | 0D ¢und
S 1433 | o3 {52\ |8

NS | 332 |aung | 20061 uq) %
0> | %99 | 435 |low* || ool
Grard ol | 2365 | 9710 | 2b%0|12706 |

6. The standard deviation of the speed of 86 vehicles on a certai highwav is 15.4 mph. Find the

I :
standard errornfSE =7 (5 points)




7.

10.

11.

The formula for the standard score is 7 = ~0— The mean hdight of women is 64" witha
" with a standard deviation of 3.5”,
t their gencer? Explain,

standard de\nation of 3.1”, and the mean height of men is 7
Richard is 6"2” and Pamela is 5’11”. Which of them is taller
(8 points)

Using the data on Sheet 10, find the 8ot percentile of educ

%

Using an amortization table or a built-in financial formula in
account if it collects 2.1% interest, compounded daily, for 18
day. (6 points)

ion from the data. (5 points)

cel, find the amount in a savings
ears, if a $3 deposit is made every

& 23, 951 67

date, and make a bar graph of it.
hat it tells you. (6 points)

VG2 k Cornmd

Using the data on Sheet 11, make a summary table of drinkin
Label it appropriately and write a sentence that summarizes

Using the data on Sheet 11, make a summary table of the sm
it, and label it apprc)prlately What percent of the sample co
(6 points)

ing data and make a pie graph of
ider themselves nor-siokers?

S6%

Excel Work: (30 points)




MATH 154, Final Exam, Part II, Spring 2019 Name
Instructions: This portion of the exam is to be answered entirely in
calculator, but it may not be on a device that connects ta the Intern

places unless the question asks for a different number of places.

1.

EY

ss without Excel. You may use a
. Round answers to two decimal

Employees are surveyed and a scatterplot of the relationshi
experience plus education) is plotted against salary. A linea
equation and coefficient of determination is on the graph.
questions that follow.

between total experience (work
egression line is faurd, and the
UBe this gragh to answer the

a. State the slope of the regression line and interpret it in th

81343

Cyfvmiviog e S ks Wt

b. State the y-intercept and in erpretivin the context of the groblem. (5 points)
22474 |
) To be 923,479

c. Ifanewemployee has a total of 5 years of experience credlts (one year on the job plus a 4-
year degree), what kind of salary can they expect accordinglto the re gression line? ('5 points)

%
8/4.43(5)+ 22,97 = 2%, 506,15

context of the problem. (5 points)

d. What is the pr@portion of the variability in salary that can |
(5 points)

explaired by total experience?

60-42%




2. What values are used to create a boxplot? (4 points)

Sg’ﬁ'—glwwwa/

3. Atable of unit conversions is shown below. Use It to perfor
(4 points each) j

the following unit conversions.

] A

1 km= Q.862137 m
"

&

mi = S280 f; o 5
< 1.6093 » C=5 (oF- 32«“)
It = 1.0936 y¢
¥ ir = 2.534 cm {exnactly
L em= 0.3937 in

a. Convert927 ﬂ(ilometers to miles

qa:mo.bzraq T SFY m.

b. Convert ~—40;°C to degrees Fahrenneit

%C“LIO")Ar 32 = —HO°F

4. Ascreenshot below shows a small dataset, sample size 10. Bg8ed on the information shown
write the Excel formulas you'd need to calculate the requestef values. (5 points eac h)

7

AF AG AH \ al Ak

1 |20

= 22
4 23
5 24
6 18
7 132
8 24
9 131
10 28

a. What formulaiwould be needed to find the median of the ¢ ita?
= MEDIAN (AGIT AGto)

b. What formula would be needed to find the 75t percentile?

)

= PErcenTILE (AGI: AGIO, O
o 7Y




i
Under what cirqumstances is it better to use a medianas a |
the mean? (4 pc‘Tints)

poon e dak <)

Shown below is a pivot table of Gender, and whether or not
table to answer Fhe questions that follow. (5 points each)

Column Labels

Row Labels No Yas |
Female 332 66

Male 379 79
Grand Total 711 145 |
a. Ifaperson islrandomly selected from the data, what is th

female?

1
398/ %Sk = 1% -

1.9 %%

C. What is the probability that the person lives alone and is a

©b/ese - 5%aq =

d. Whatis the prpbability that the person lives alone or is a

298 + 14S- L6 4R .

$So BSk

e. What is the prqi:bability that the person lives alone given th

éco/sq? s 35/”]? =

asure of central tendency than

e person lives alone. Use the

Girand
Total
398
458
LT
prohability that the person is

many

%

they zre fernale?

6%




Translate the lo

Thare o

standard scientific notation as it appears in normal mathem
“computer” formatting. (4 points)

8. The screenshot |
U
1
2
4
9. The 30" percenti

What does this st

350% %

10. Using the screens

_pZ2
expression
P CVD
3 A
1
5

gical and mathematical notation 3x(x? = 1

Then find the value of x. (6 points)

oIS e K Suwch Thak Y *=
X=2]

selow shows how scientific notation appear

—

nexcel, Write this number in
ical notation and not in

17E-05

i

3.173 x101>

e of heights of men in the United States isa
atement mean in plain English? (5 points)

man ave Shaovlio Than (o faval o y 58"
204

roximately 68.2” or 5°8.2”.

hot of an Excel sheet below to write a formul@ that will evaluata the

using the cell references where the values a in the sheet. {8 points)

Formula

[I¥]

] _3
I




11. Explain why the

graph below is a bad graph. There are at legst two problems with it {8 paints)

en Who

Alcne




